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1. Explain the process and precautions in verifying

law of conservation of mass 

(OR) 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zDN2e8duTZb2


Explain the procedure to prove in a chemical

reaction the mass neither created nor destroyed. 

View Text Solution

2. 0.24 g sample of compound of oxygen and

boron was found by analysis to contain 0.144 g of

oxygen and 0.096 g of boron. Calculate the

percentage composition of the compound by

weight.

Watch Video Solution

https://dl.doubtnut.com/l/_zDN2e8duTZb2
https://dl.doubtnut.com/l/_DCz1D54HKQ2p


3. Lakshmi gives statement''CO and Co both

represent element''.Is it correct? State reason.

Watch Video Solution

4. What is the chemical name and formula of

table salt?

Watch Video Solution

5. Find out the chemical names and formulae for

the following common household substances. 

https://dl.doubtnut.com/l/_9MhbWteDO7WF
https://dl.doubtnut.com/l/_aYSt8a8krOjW
https://dl.doubtnut.com/l/_lIB7wEMuXBF2


a) common salt b) baking soda c) washing soda d)

vinegar

Watch Video Solution

6. Which has more number of atoms 100 g of

sodium or 100 g of iron? Justify your answer.

Atomic mass of sodium =23 u, atomic mass of

iron= 56 u)

Watch Video Solution

https://dl.doubtnut.com/l/_lIB7wEMuXBF2
https://dl.doubtnut.com/l/_Y6YIXPXoEety


7. Complete the following table. 

View Text Solution

8. Fill the following table. 

Watch Video Solution

https://dl.doubtnut.com/l/_qisOFqOBTHsS
https://dl.doubtnut.com/l/_gd2mmH05EarU


9. Carbon dioxide is added to 112 g of calcium

oxide. The product formed is 200 g of calcium

carbonate. Calculate the mass of carbon dioxide

used. Which law of chemical combination will

govern your answer?

Watch Video Solution

10. Imagine what would happens if we do not

standard symbols for elements. 

(OR) 

https://dl.doubtnut.com/l/_a3A5yhqjTmCc
https://dl.doubtnut.com/l/_n3IJPMFbEGkM


is it necessary to use symbols for elements? Write

your opinion.

Watch Video Solution

11. Draw a diagram to show the experimental

setup for the law of conservation of mass. 

(OR) 

Draw the experimental arrangement used in

verifying law of conservation of mass. Write the

law of conservation of mass.

Watch Video Solution

https://dl.doubtnut.com/l/_n3IJPMFbEGkM
https://dl.doubtnut.com/l/_OwTJqtejO9b0


Question Given In The Lesson

1. Did you observe any precipitate in the reaction

?

Watch Video Solution

2. Fill in the missing words in the blanck spaces in

the following statements Cyclone may be caused

due to differences in ...................

Watch Video Solution

https://dl.doubtnut.com/l/_KAxJLcejqeia
https://dl.doubtnut.com/l/_dLcqWuukLimu
https://dl.doubtnut.com/l/_NnjjQg41QBoU


3. What do you observe from the table? .

View Text Solution

4. What difference do you observe in percentage

of copper, carbon and oxygen in two samples? Are

elements also made of atoms?

Watch Video Solution

5. Are elements also made of atoms ?

Watch Video Solution

https://dl.doubtnut.com/l/_NnjjQg41QBoU
https://dl.doubtnut.com/l/_sKD7gnj8A3MN
https://dl.doubtnut.com/l/_3skLDmZckg5P


6. Fill the blank spaces in the following

statements. In india cyclones occur in the month

of ............... and..............

Watch Video Solution

7. Observe the atomicity and fill the following

table. 

View Text Solution

https://dl.doubtnut.com/l/_3skLDmZckg5P
https://dl.doubtnut.com/l/_swd3KhP6Tf66
https://dl.doubtnut.com/l/_r6U9d7enN68y
https://dl.doubtnut.com/l/_gFbdwQuvbFDZ


Previous Summative Assassments Questions 2 Mark

8. What is valency? Write valency of hydrogen.

Watch Video Solution

9. Can you write the formula of carbon dioxide

and carbon monoxide? Try to write formula for

them as we have done in case of water molecule.

Watch Video Solution

https://dl.doubtnut.com/l/_gFbdwQuvbFDZ
https://dl.doubtnut.com/l/_uQIm3tausjOi


Previous Summative Assassments Questions 4 Mark

1. Fill in the following table . 

View Text Solution

1. Molecular mass of a molecule is the sum of the

atomic masses of individual atoms in it. 

 

(i) Find the molecular mass of . 


(ii) IF the molecular weight of a compound is 44.

Na2CO3

https://dl.doubtnut.com/l/_RMKw3fudfZ13
https://dl.doubtnut.com/l/_FmJ8CgYLxKox


Which is made with carbon and oxygen.What its

molecular formula? 

(iii) What is the unit of atomic mass? 

(iv) On the basis of molecular weights of NaOH

and , which is heavier?

View Text Solution

H2O

2. Complete the table 

View Text Solution

https://dl.doubtnut.com/l/_FmJ8CgYLxKox
https://dl.doubtnut.com/l/_qpwWby7mmIKU


Essential Material For Examination Purpose 2 Mark

1. What are the Dalton's proposals about the

nature of matter ?

Watch Video Solution

2. What is the proposal of Indian sage kanada,

about atom?

Watch Video Solution

https://dl.doubtnut.com/l/_H45k8C6ArlWn
https://dl.doubtnut.com/l/_yHPsG9DWcQLK


3. What is the use of symbols for elements?

Watch Video Solution

4. What are the characteristics of a symbol?

Watch Video Solution

5. In a reaction 5.3 g of sodium carbonate reached

with 6 g of ethanoic acid. The products were 2.2 g

of carbon dioxide , 0.9 g if water and 8.2 g of

sodium ethanoate. Show that these observations

https://dl.doubtnut.com/l/_tNFnqMKaqdoi
https://dl.doubtnut.com/l/_lR8bUOnFnx7v
https://dl.doubtnut.com/l/_FpWoeUCbsqwE


are in agreement with law of conservation of

mass.

Watch Video Solution

6. Hydrogen and oxygen combine in the ratio of

1:8 by mass of form water.

Watch Video Solution

7. IF one moles of carbon atom weight 12 g. What

is the mass of 1 atom of carbon?

Watch Video Solution

https://dl.doubtnut.com/l/_FpWoeUCbsqwE
https://dl.doubtnut.com/l/_O1ZKo52OPjsh
https://dl.doubtnut.com/l/_lq0ALAX2A2nI


Watch Video Solution

8. When 3 g of carbon is burnt in 8g of oxygen 11

g of carbob dioxide is produced. What mass of

carbon dioxide is formed when 3 g of carbon is

burnt in 50 g of oxygen.

Watch Video Solution

9. Give the names of the elements present in the

following compounds. 

(i) quick lime (ii) Hydrogen bromide (iii) Baking

soda (iv) Potassium compounds

https://dl.doubtnut.com/l/_lq0ALAX2A2nI
https://dl.doubtnut.com/l/_1d6sDl13NwCl
https://dl.doubtnut.com/l/_Cof5BHNMyv6x


Watch Video Solution

10. Calculate number of sulphur  present in

16 g of solid sulphur.

Watch Video Solution

(S6)

11. Anitha wrote the formula for oxygen molecule

as 2O. Is it correct or not? Why?

Watch Video Solution

https://dl.doubtnut.com/l/_Cof5BHNMyv6x
https://dl.doubtnut.com/l/_SCKNQKF4GXqD
https://dl.doubtnut.com/l/_0iSQCm2Asp2k


Essential Material For Examination Purpose 4 Mark

1. How elements got their names? Explain all

examples.

Watch Video Solution

2. Define the following terms. 

Atomicity

Watch Video Solution

https://dl.doubtnut.com/l/_TZk7tP5Q7ihU
https://dl.doubtnut.com/l/_xzJWGqTMTAKE


3. Define the following terms. 

Ions

Watch Video Solution

4. Explain the method of writing a formula to a

compound using criss-cross method, with the

help of an example.

Watch Video Solution

5. Define the terms : Molecular mass.

https://dl.doubtnut.com/l/_tyDTjJwjenZw
https://dl.doubtnut.com/l/_EzLfDfhZdHrP
https://dl.doubtnut.com/l/_rl1zR50ehzFo


Watch Video Solution

6. Define the terms : Formula unit mass

Watch Video Solution

7. Define the terms : Mole.

Watch Video Solution

8. What are the main postulates of Dalton's

atomic theory? (OR) 

https://dl.doubtnut.com/l/_rl1zR50ehzFo
https://dl.doubtnut.com/l/_OPP3WC9MVdQH
https://dl.doubtnut.com/l/_2irvKEyL27L8
https://dl.doubtnut.com/l/_Z17aaSnokG2y


Write the postulates of Dalton's Atomic theory.

Watch Video Solution

9. what is the defination of incident ray and

reflected ray?.

Watch Video Solution

10. Illustrate the concept of mole through a

diagram.

Watch Video Solution

https://dl.doubtnut.com/l/_Z17aaSnokG2y
https://dl.doubtnut.com/l/_0uVvLH8FJ3TE
https://dl.doubtnut.com/l/_YxwVQ5SRpyZU


11. How can you appreciate John Dalton for

proposing his atomic theory?

Watch Video Solution

12. How do you feel after studying the symbols

and formulae of different elements and

compounds?

Watch Video Solution

https://dl.doubtnut.com/l/_AR2kaPvbNdYP
https://dl.doubtnut.com/l/_V57WbtlPaOG0


13. Describe the experiment conducted by Joseph

L., Proust, which lead him to purpose law of

constant proportions.

Watch Video Solution

14. Write down the formulae of these compounds,

using criss-cross methods? 

sodium oxide

Watch Video Solution

https://dl.doubtnut.com/l/_UVR7yRF1z1Vi
https://dl.doubtnut.com/l/_jSm96WYLryyO


15. Write down the formulae of these compounds,

using criss-cross methods? 

Aluminimum chloride

Watch Video Solution

16. Write down the formulae of these compounds,

using criss-cross methods? 

Sodium Sulphide

Watch Video Solution

https://dl.doubtnut.com/l/_yCqTiDEocAmB
https://dl.doubtnut.com/l/_eQQD92YdoomR


17. Write down the formulae of these compounds,

using criss-cross methods? 

Magnesium hydroxide

Watch Video Solution

18. Write down the names of compounds

represented by the following formulae and also

write the anion cation. 

(i)  (ii)  (iii)  (iv) 

(v) 

Watch Video Solution

Al2(SO4)3
CaCl2 K2SO4 KNO3

CaCO3

https://dl.doubtnut.com/l/_srvJ6iXaWSWi
https://dl.doubtnut.com/l/_4jcVIFvn3dQq


19. What are the rules you have to follow while

writing a chemical formula?

Watch Video Solution

20. Calculate the molecular weight

.

Watch Video Solution

H2, O2, Cl2, CO2CH4, C2H6, C2H4, NH3, CH3OH

https://dl.doubtnut.com/l/_4jcVIFvn3dQq
https://dl.doubtnut.com/l/_qfsIazixMSp5
https://dl.doubtnut.com/l/_Pyrw1BpalrR7


21. What is atomicity?

Watch Video Solution

22. Which mirrors are called spherical mirrors?

how many types are they?

Watch Video Solution

23. Why do elements have different atomicities?

Watch Video Solution

https://dl.doubtnut.com/l/_jaPjTLHRGMIF
https://dl.doubtnut.com/l/_mB8Tr8hafqpv
https://dl.doubtnut.com/l/_MNNce5SQ9nWF


Previous Summative Assessments

1. The correct order in the activity to observe law

of conservation of mass is 

P. Take 100 ml of silver nitrate solution in a

chemical flask and 5 ml of sodium chloride in a

test tube. 

Q. Due to reaction between these two while

precipitate will form. 

R. Add sodium chloride solution to silver nitrate

solutions 

S. Weight of two and record the sum of their

weights 

https://dl.doubtnut.com/l/_XvluZrXwC9k6


T. After reaction weigh it again and it will be equal

to the previous reading.

A. P,R,S,Q,T

B. P,S,R,Q,T

C. P,S,Q,R,T

D. P,S,R,T,Q

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XvluZrXwC9k6


2. Uma: mass is neither created nor destroyed

during a chemical reaction 

Rama: matter is conserved in a chemical reaction.

A. Uma is correct,Rama is incorrect

B. Both Uma and Rama are correct.

C. Both uma and rama is incorrect

D. Uma is incorrect and Rama is correct

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_l97C4PPvPmp7
https://dl.doubtnut.com/l/_6wkUggr8MEuX


3.  : Sodium chloride :: : Aluminium

sulphate

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

□ Al2(SO4)3

NaCO3

Na2(CO3)2

Na(CO3)2

Na2CO3

https://dl.doubtnut.com/l/_6wkUggr8MEuX


4. David: By transfer of electrons atoms- can

attain octet 

Dravid: By sharing of electrons atoms- can attain

oclet

A. David incorrect,Dravid correct

B. Both david and dravid are incorrect

C. Both david and dravid are correct

D. David correct,dravid incorrect

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_zLx1MUyBiSqx


5. A given chemical substance always contains the

same elements combined in a fixed proportion by

mass. Guess the compounds formed in the ratio

of  and  by carbon and oxygen.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1: 1 1: 2

CO2, CO

CO, CO3

CO2, CO3

CO, CO2

https://dl.doubtnut.com/l/_zLx1MUyBiSqx
https://dl.doubtnut.com/l/_jFwJFeu9IhGv


6. A neutral metal atom becomes dipositive ion by

loosing two electrons. In the same way a neutral

non-metal atom becomes uni-negative ion by

gaining one electron. The formula of a compound

which is formed by these two ions is

A. 

B. 

C. 

D. 

m2X

m2X1

m2X3

m2x2

https://dl.doubtnut.com/l/_jFwJFeu9IhGv
https://dl.doubtnut.com/l/_JM9Yfofzt5iq


Answer: D

Watch Video Solution

7. We can test the law of conservation of mass by

the reaction between barium chloride and

sodium sulphate.While doing the experiment, one

of the precautions you have taken is

A. Reactants should be taken in solid state

B. Cork was not fitted while the reaction is

taking place

https://dl.doubtnut.com/l/_JM9Yfofzt5iq
https://dl.doubtnut.com/l/_nbq3RD1podsT


C. common balance is used to weigh the

substances

D. Flask was tilted and swirled for the mixing

of two solutions.

Answer: D

Watch Video Solution

8. The apparatus which is not required in the

experiment mentioned in question number (8) is

A. Test tube

https://dl.doubtnut.com/l/_nbq3RD1podsT
https://dl.doubtnut.com/l/_D43bBD84wf1N


B. Beaker

C. Stand

D. Conical flask

Answer: B

Watch Video Solution

9. The molecular mass of a substances is the sum

of the atomic masses of all the atoms in the

molecule of the substance . If the atomic masses

of hydrogen, sulphur and oxygen are 1,32 ,16

https://dl.doubtnut.com/l/_D43bBD84wf1N
https://dl.doubtnut.com/l/_hrFblYCo4tHr


successively then the molecular mass of sulphuric

acid is

A. 98 U

B. 49U

C. 97 U

D. 89 U

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hrFblYCo4tHr


10. Some symbols of elements are based on their

English names, Some other are based on their

Latin names.Which of the following elements

have symbols based on Latin names? 

(i) Sodium (ii) Neon (iii) Gold (iv) Argon

A. (i) and (iii)

B. (i) and (iv)

C. (ii) and (iv)

D. (i) and (ii)

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_7m7eHitj0KS1


Watch Video Solution

11. IF valency of MG is '+2' and valency of Sulphate

 is '-2', then the formula of compound

formed by these

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(SO4)

Mg2SO4

Mg(SO4)2

MgSO4

Mg3(SO4)2

https://dl.doubtnut.com/l/_7m7eHitj0KS1
https://dl.doubtnut.com/l/_qeUxoooRayIN


12. Homogeneous molecules from the following

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O

N2

N2O3

FeSO4

https://dl.doubtnut.com/l/_qeUxoooRayIN
https://dl.doubtnut.com/l/_fWouEt1pDRow


13. The common name of hydrogen monoxide is

A. Water

B. Salt

C. Washing soda

D. Baking soda

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_C7P3H4EH4tFM


14. Valencies of nitrogen and hydrogen and 3 and

1 respectively. The formula of ammonia molecules

formed by these two atoms

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

NH4

N3H

N4H

https://dl.doubtnut.com/l/_kV2UAoxkZflp
https://dl.doubtnut.com/l/_mxdz0KvWmtWs


15. P: the atmoicity of Oxygen is 3 

Q: The formula of ozone is 

A. P-correct,Q-incorrect

B. P-incorrect,Q-correct

C. Both P & Q incorrect

D. Both P & Q correct

Answer: D

Watch Video Solution

O2

https://dl.doubtnut.com/l/_mxdz0KvWmtWs


16. One of the precautions to be taken in the

conduction of experiment on law of conservation

of mass is

A. test tube should not be tilted

B. test tube should be tilted

C. Test tube should be immersed in the conical

flask

D. Test tube should be kept outside the

conical flask

Answer: B

https://dl.doubtnut.com/l/_UmTIHLYMbjYq


Watch Video Solution

17. Ornaments that we wear contains…………

A. Mercury

B. Sodium

C. Calcium

D. Gold

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_UmTIHLYMbjYq
https://dl.doubtnut.com/l/_876U6MtxrHwt
https://dl.doubtnut.com/l/_pW8VRzPcEXTW


18. The latin name of the element Tungsten is

A. Aurum

B. Plumbum

C. kalium

D. Wolfram

Answer: D

Watch Video Solution

19. Molecular formula of Ozone is………..

https://dl.doubtnut.com/l/_pW8VRzPcEXTW
https://dl.doubtnut.com/l/_PiwdBHdqJze9


Objective Type Question

A. 

B. 

C. O

D. 

Answer: A

Watch Video Solution

O3

O2

O8

https://dl.doubtnut.com/l/_PiwdBHdqJze9


1. When the particles of a substance contain only

one type of atoms, that substance is called a/an

A. molecule

B. element

C. compound

D. atom

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vfEYdyUo3rEN


2. Combination of atoms of same elements is

known as

A. molecule

B. element

C. compound

D. atom

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WIB3cBlcApzA


3. IF atoms of different elements combine then……

is formed.

A. molecule

B. element

C. compound

D. atom

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DaT69ZdVgz9Y


4. Symbol of potassium

A. Pb

B. Na

C. Fe

D. K

Answer: D

Watch Video Solution

5. The latin name of the element Tungsten is

https://dl.doubtnut.com/l/_G4k2S3pPSzyR
https://dl.doubtnut.com/l/_kuht6JR5iYDa


A. Natrium

B. Kalium

C. Wolfram

D. Cuprum

Answer:

Watch Video Solution

6. Correct method of representing a symbol

A. BE

https://dl.doubtnut.com/l/_kuht6JR5iYDa
https://dl.doubtnut.com/l/_R96I9u5P46ri


B. he

C. al

D. Cr

Answer: D

Watch Video Solution

7. Which of the following is octatomic?

A. nitrogen

B. oxygen

https://dl.doubtnut.com/l/_R96I9u5P46ri
https://dl.doubtnut.com/l/_2pxjnOKxnIoK


C. carbon

D. sulphur

Answer: D

Watch Video Solution

8. The valency of sulphate is

A. 2-

B. 2+

C. 3-

https://dl.doubtnut.com/l/_2pxjnOKxnIoK
https://dl.doubtnut.com/l/_6qCS4D0YIEGL


D. 3+

Answer: A

Watch Video Solution

9. In  the cation is

A. Cl-

B. 

C. 

D. None

NH4Cl

NH4 +

NH4Cl

https://dl.doubtnut.com/l/_6qCS4D0YIEGL
https://dl.doubtnut.com/l/_hFnBDaQFEg6h


Answer:

Watch Video Solution

10. Chemical formula of aluminium sulphate is

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

Al2SO4

(Al2)2(SO4)3

Al2(SO4)3

AlSO4

https://dl.doubtnut.com/l/_hFnBDaQFEg6h
https://dl.doubtnut.com/l/_oq7vDr7208o7


Watch Video Solution

11. Molecular mass of  is

A. 98 u

B. 89 u

C. 49 u

D. 106 u

Answer: A

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_oq7vDr7208o7
https://dl.doubtnut.com/l/_HjSKsy4aIbQM


12. Molar mass of  number of

calcium atoms

A. 20 gm

B. 40 gm

C. 10 gm

D. 30 gm

Answer: C

Watch Video Solution

1.5055 × 1023

https://dl.doubtnut.com/l/_QyMKMbDKG6oU


13. Convert into moles : 8 gm of Mg.

A. 0.3

B. 3

C. 2

D. 0.2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_retJLE2L4Uzz


14. Among the following which element has more

number of atoms?

A. Sulphur

B. Calcium

C. Nitrogen

D. Carbon

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JypBhMLtQARa


15. Mass is neither created nor destroyed during a

chemical reaction " This is known as ……….

A. Law of constant proportions

B. Law of multiple proportions

C. Law of conservation of mass

D. Law of conservation of energy

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_y5WJsuOU1JIq


16. Dalton proposed atomic theory based

on…………..

A. Law of conservation of mass

B. Law of constant proportions

C. Both A & B

D. Neither A nor B

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ajzRr8Kx98aI


17. According to Dalton atom is ………particle.

A. indivisible

B. tiny

C. both A & B

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EIOJtNlWuJbJ


18. The word atom is derived from a Greek word "

atmos" means………..

A. indivisible

B. divisible

C. Both A & B

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9M2IrtOFZoHq


19. ……… are the building blocks of all matter.

A. Atoms

B. Molecules

C. Elements

D. Compounds

Answer:

Watch Video Solution

20. Latin word for water is……….

https://dl.doubtnut.com/l/_I5IK4fq7CT05
https://dl.doubtnut.com/l/_gT0qkZWkDR7J


A. hydro

B. oxy

C. helios

D. none of these

Answer:

Watch Video Solution

21. latin word for atom is…………

A. hydro

https://dl.doubtnut.com/l/_gT0qkZWkDR7J
https://dl.doubtnut.com/l/_JHv7wgVvfDyf


B. oxy

C. helios

D. atmos

Answer: D

Watch Video Solution

22. Symbol of Beryllium is……..

A. Ba

B. Be

https://dl.doubtnut.com/l/_JHv7wgVvfDyf
https://dl.doubtnut.com/l/_tFmBBxulNwRX


C. Br

D. B

Answer: B

Watch Video Solution

23. Symbol of nitrogen is………..

A. Nl

B. Na

C. N

https://dl.doubtnut.com/l/_tFmBBxulNwRX
https://dl.doubtnut.com/l/_Eky24DPNgwJw


D. No

Answer: C

Watch Video Solution

24. Symbol for gold………….

A. G

B. Ga

C. Ge

D. Au

https://dl.doubtnut.com/l/_Eky24DPNgwJw
https://dl.doubtnut.com/l/_R74QYYsGbxHO


Answer:

Watch Video Solution

25.  is the formula for…………….

A. Chlorine

B. Cadmium

C. Chromium

D. Calcium

Answer:

W t h Vid S l ti

Cl2

https://dl.doubtnut.com/l/_R74QYYsGbxHO
https://dl.doubtnut.com/l/_ji0oayYcooq8


Watch Video Solution

26. We are protected by shielding the earth from

some harmful rays of the sun by…………

A. atmosphere

B. ozone layer

C. clouds

D. sky

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ji0oayYcooq8
https://dl.doubtnut.com/l/_E4DdG3ZgS8mB


27. The number of atoms constituting a molecule

is known as its……….

A. valency

B. atomicity

C. atomic number

D. mass number

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lfRliAQlZD2j


28. The atomicity of sodium is……….

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_C8t71rYo7eXM


29. The combining capacity of one atoms with

another atom is its………….

A. valency

B. atomicity

C. atomic number

D. mass number

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aUvQdqhUH8Hn


30. Valency of Argon is…………

A. 0

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

31. Valency of carbon is ………..

https://dl.doubtnut.com/l/_Y3d8PlvWgtZF
https://dl.doubtnut.com/l/_J8RhJoLFfDzU


A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

32. A positively charged ion is called…………

A. radical

https://dl.doubtnut.com/l/_J8RhJoLFfDzU
https://dl.doubtnut.com/l/_5xx7JEzdKTBS


B. anion

C. cation

D. multiple ion

Answer:

Watch Video Solution

33. A negatively charged ion is called……….

A. radical

B. anion

https://dl.doubtnut.com/l/_5xx7JEzdKTBS
https://dl.doubtnut.com/l/_smmi5VcIyHkc


C. cation

D. multiple ion

Answer:

Watch Video Solution

34. In  the anion is…………..

A. 

B. 

C. 

NH4OH

OH −

NH
+

4

NH +
3

https://dl.doubtnut.com/l/_smmi5VcIyHkc
https://dl.doubtnut.com/l/_C1J0muyOdw9K


D. 

Answer:

Watch Video Solution

NH −

35. Standard reference for measuring atomic

masses of other elements is ………..

A. atomic mass of carbon -12

B. atomic mass of carbon-14

C. atomic mass of oxygen-16

D. atomic mass of oxygen -18

https://dl.doubtnut.com/l/_C1J0muyOdw9K
https://dl.doubtnut.com/l/_QmHI40ACs9lk


Answer: A

Watch Video Solution

36. The number of times one atom of given

element is heavier than  th part of atomic

mass of carbon-12 is called as………

A. valency

B. atomicity

C. atomic mass

D. atomic number

1/12

https://dl.doubtnut.com/l/_QmHI40ACs9lk
https://dl.doubtnut.com/l/_9wzyVTD4f7v3


Answer:

Watch Video Solution

37. Atomic mass of Magnesium is……….

A. 8

B. 10

C. 12

D. 24

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_9wzyVTD4f7v3
https://dl.doubtnut.com/l/_HaNLBlHk2X3E


Watch Video Solution

38. Formula of silver nitrate……..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

AgNO2

AgSO4

AgNO3

Ag(NO3)2

https://dl.doubtnut.com/l/_HaNLBlHk2X3E
https://dl.doubtnut.com/l/_18DVRU33NWPp


39. Molecular mass of sodium carbonate is……………

U.

A. 108

B. 104

C. 110

D. 106

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zCiwazbclzSe


40. Avogadro constant =………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NA

6.022 × 1020

6.022 × 1021

6.022 × 1022

6.022 × 1023

41. Molar mass of water=…………..U.

https://dl.doubtnut.com/l/_6MeOMHnsYYuF
https://dl.doubtnut.com/l/_IWujFIoU1TKz


A. 16

B. 18

C. 20

D. 22

Answer:

Watch Video Solution

42. Number of particles present in 32 g of oxygen

molecule are……………

A. 6.022 × 1020

https://dl.doubtnut.com/l/_IWujFIoU1TKz
https://dl.doubtnut.com/l/_ZcTWlbmqjS10


B. 

C. 

D. 

Answer:

Watch Video Solution

3.011 × 1023

6.022 × 1022

6.022 × 1023

43. Convert in to moles: 

22 g of carbon dioxide

A. 1

B. 0.25

https://dl.doubtnut.com/l/_ZcTWlbmqjS10
https://dl.doubtnut.com/l/_w7q99tkk9LPO


C. 0.75

D. 0.5

Answer:

Watch Video Solution

44. The valency of copper in  is………..

A. 

B. 

C. 

Cu2O

+1

+2

+3

https://dl.doubtnut.com/l/_w7q99tkk9LPO
https://dl.doubtnut.com/l/_19T6zhSSXaTP


D. 

Answer: A

Watch Video Solution

−1

45. Number of particles in 7.75 g of phosphorous

is…….

A. 

B. 

C. 

D. 

6.022 × 1023

3.011 × 1023

1.5055 × 1023

6.022 × 1022

https://dl.doubtnut.com/l/_19T6zhSSXaTP
https://dl.doubtnut.com/l/_RFCapEBmOeV5


Answer:

Watch Video Solution

46. Symbol of nitrate is………….

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

NO −
3

NO −
2

N 3 −

N −

https://dl.doubtnut.com/l/_RFCapEBmOeV5
https://dl.doubtnut.com/l/_fLUliN4FbfmY


Watch Video Solution

47. Statement -I The symbol of chloride ion is

. 


Statement -II: The symbol of ammonium ion is

.

A. Both the statements are true.

B. Statement-I is true and statement-II is false.

C. Statement-I is false and stament-II is true

D. Both the statements are false

Answer:

Cl−

NH
+

4

https://dl.doubtnut.com/l/_fLUliN4FbfmY
https://dl.doubtnut.com/l/_aQqcbLgAgmDx


Watch Video Solution

48. Symbol of sodium ion is……………

A. Na

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2 +

Na3 +

Na +

https://dl.doubtnut.com/l/_aQqcbLgAgmDx
https://dl.doubtnut.com/l/_guwnqHCtkI51
https://dl.doubtnut.com/l/_DnyhyRkEAu9K


49. The formula of Aluminium Carbonate is……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

AlCO3

Al2CO3

Al2(CO3)3

Al(CO3)2

50. The symbol of Zinc ion is………

https://dl.doubtnut.com/l/_DnyhyRkEAu9K
https://dl.doubtnut.com/l/_VFKyqZCez4NW


A. Zn

B. 

C. 

D. 

Answer:

Watch Video Solution

Zn+

Zn2 +

Zn3 +

51. Which of the following statement is not given

by Dalton? Statement (A) : If mass was to be

conserved, then all elements must be made up of

https://dl.doubtnut.com/l/_VFKyqZCez4NW
https://dl.doubtnut.com/l/_FCDfBNZeCY8B


extremely small particles. Statement (B) : If law of

constant proportion is to be followed, the

particles of same substance be either same or

different.

A. A only

B. B only

C. Both A & B

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FCDfBNZeCY8B
https://dl.doubtnut.com/l/_RscGWZFpYLKO


52. Who is correct? 

Srinu: Elements are made up of atoms. 

Mohan: Atoms are made of elements.

A. Srinu

B. Mohan

C. Both

D. Neither srinu and mohan

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RscGWZFpYLKO
https://dl.doubtnut.com/l/_yMre2SFz6Gxx


53. Assertion (A): The atomic mass of magnesium

is 24. 

Reason ( R): Magnesium atom is 24 times heavier

than that of  of mass of carbon.

A. A and R are true.A is supported by R

B. A and R are true , A is not supported by R

C. A and R are false

D. A is true but R is false

Answer:

Watch Video Solution

1/12

https://dl.doubtnut.com/l/_yMre2SFz6Gxx
https://dl.doubtnut.com/l/_AJFy5Kyj14ir


54. Assertion (A): Atomic mass has no units. 

Reason ( R): Atomic mass is an expression of ratio.

A. A and R are true.A is supported by R

B. A and R are true , A is not supported by R

C. A and R are false

D. A is true but R is false

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AJFy5Kyj14ir


55. An iron rod changed into iron oxide by

rusting. Guess how the weights before and after

rusting of the iron rod are changed. 

If a= weight of the iron rod 

b= weight of the iron oxide

A. 

B. 

C. a=b

D. we cannot say

Answer:

W t h Vid S l ti

a > b

b < a

https://dl.doubtnut.com/l/_NGGgltRQSiE5


Watch Video Solution

56. In the experiment of “To prove law of

conservation of mass”, Manoj found that weight

of ‘Mg’ in a closed test tube is not equal to the

weight of ‘MgO’ after burning. The reason may be

A. Law of conservation of mass is not

applicable to some chemical changes

B. Some gas was escaped in this experiment

C. He was used simple balance in weight

D. Above all

https://dl.doubtnut.com/l/_NGGgltRQSiE5
https://dl.doubtnut.com/l/_zg92Dd3c5yt7


Answer:

Watch Video Solution

57. ……………?

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

CO : 1: 1: : CO2 :

1: 1

2: 1

1: 2

2: 3

https://dl.doubtnut.com/l/_zg92Dd3c5yt7
https://dl.doubtnut.com/l/_zMEcbHoMl8p9


Watch Video Solution

58. Molecules in water is  then molecules in

the Hydrogen is

A. H

B. 

C. A or B

D. No molecules

Answer:

Watch Video Solution

H2O

H2

https://dl.doubtnut.com/l/_zMEcbHoMl8p9
https://dl.doubtnut.com/l/_6k6gjo2TAnpA


59. Why did symbol of copper taken as 'Cu'?

A. latin name of copper is cuprum

B. original spelling of copper is cupper

C. Symbols of all metals should be taken in

two letters

D. Above all

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_tK0ilmfKCvr5


60. Statement (A) : Symbol of carbon is ‘C’

whereas symbol of calcium is ‘Ca’. Reason (R) :

Eventhough carbon and calcium have ‘C’ as its

initial, carbon occurs first in periodic table. So, its

symbol was taken as ‘C’ and calcium symbol was

taken as ‘Ca’.

A. Both A and R are true

B. Both A and R are false

C. A is true and but R is false

D. A is false but R is true

Answer:

https://dl.doubtnut.com/l/_KnkiiJNr8jBv


Watch Video Solution

61. Generally all inert gases like , He,Ne,Ar,Kr,Xe are

available as monoatomic elements. 

Guess the reason.

A. They are more reactive

B. Their valency is zero

C. Their valency is less than 8

D. They are unstable.

Answer:

https://dl.doubtnut.com/l/_KnkiiJNr8jBv
https://dl.doubtnut.com/l/_8pc0t8x4nNCR


Watch Video Solution

62. IF  and Na'x' then 'x' may be

A. carbon

B. cromium

C. chlorine

D. copper

Answer:

Watch Video Solution

' x − 1
'

https://dl.doubtnut.com/l/_8pc0t8x4nNCR
https://dl.doubtnut.com/l/_0oqh3eUwm5oy
https://dl.doubtnut.com/l/_fcgqo5iZYWJQ


63. The valencies of 'Mg' and 'O'

are……..respectively in MgO.

A. 1,1

B. 2,2

C. 1,2

D. 2,1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_fcgqo5iZYWJQ


64.  Y','X' H 'Y', 'X' OH 


Guess X and Y.

A. X=Na,Y=OH

B. X=Na,Y=

C. ,Y=Zn

D. X=Zn, Y= 

Answer:

Watch Video Solution

' X2

CO3

X = CO3

CO3

https://dl.doubtnut.com/l/_EeEG8SCAXFFv


65. By using  


How many substance can be formed?

A. 2

B. 3

C. 4

D. 6

Answer:

Watch Video Solution

Ag + , Cl− , Na + , OH −

https://dl.doubtnut.com/l/_v41KtgGXntdB


66. Molar mass of molecule x= 2 gr 

Molar mass of molecule y= 32 gr 

Molar mass of molecule =18 gr 


Predict x and y.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2y

x = H2, y = O2

x = O2, y = H2

x = H2, y = Cl2

x = Cl2, y = H2

https://dl.doubtnut.com/l/_7HdFKvWMGFRG


67. No. of molecules in 44 grams of  is equal

to

A. no. of molecules in 18 gr of 

B. no. of molecules in 2 grams of 

C. no. of molecules in 32 grams of 

D. any one of the above

Answer:

Watch Video Solution

CO2

H2O

H2

O2

https://dl.doubtnut.com/l/_7HdFKvWMGFRG
https://dl.doubtnut.com/l/_KlFZASPK24dL


68. In this experiment which gas is produced? 

A. put the cork tightly

B. measure components accurately

C. while measuring leave the apparatus freely

https://dl.doubtnut.com/l/_eV9k2mQiw9P1


D. Above all

Answer:

Watch Video Solution

69. Law of conservation of mass was proposed by

A. Antoine Lavoisier

B. Joseph L.Proust

C. John dalton

D. Landolt

https://dl.doubtnut.com/l/_eV9k2mQiw9P1
https://dl.doubtnut.com/l/_jpiqdbUwG9WR


Answer:

Watch Video Solution

70. Law of conservation of mass was

experimentally verified by

A. Antoine Lavoisier

B. Joseph L.Proust

C. John dalton

D. Landolt

Answer:

https://dl.doubtnut.com/l/_jpiqdbUwG9WR
https://dl.doubtnut.com/l/_8b7XeV7zQrSW


Watch Video Solution

71. Law of constant proportions was proposed by

A. Antoine Lavoisier

B. Joseph L.Proust

C. John dalton

D. Landolt

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8b7XeV7zQrSW
https://dl.doubtnut.com/l/_nN5qhmjAZ1OG
https://dl.doubtnut.com/l/_OK8DULPAH9jx


72. What is the original name of Kanada, an

Indian sage, who proposed anu and paramanu?

A. Vaishesika Sutra

B. Rishi

C. Kasyapa

D. Bhaskara

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OK8DULPAH9jx


73. Initial letter of an element written in capitals

should represent that a particular element. This

was proposed by

A. John dalton

B. Landolt

C. John Berzelius

D. Wilhelm Ostwald

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AxslSkYv98uA
https://dl.doubtnut.com/l/_oY0C6eILn2UH


74. The word 'mole' was first introduced by

A. John Berzelius

B. Wilhelm Ostwaid

C. John dalton

D. Avogadro

Answer:

Watch Video Solution

75. Number of particles present in 9 grams of

aluminium

https://dl.doubtnut.com/l/_oY0C6eILn2UH
https://dl.doubtnut.com/l/_PKBHbW98WDyt


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2.007 × 1023

3.011 × 1023

18.066 × 1023

6.022 × 1023

76. Father of modern chemistry is……..

A. Levoisier

https://dl.doubtnut.com/l/_PKBHbW98WDyt
https://dl.doubtnut.com/l/_UiiTzdEoiExj


B. Proust

C. Dalton

D. Landolt

Answer:

Watch Video Solution

77. Greek name of sun is…….

A. hydro

B. oxy

https://dl.doubtnut.com/l/_UiiTzdEoiExj
https://dl.doubtnut.com/l/_mJFe9W9QYTmY


C. helios

D. atmos

Answer:

Watch Video Solution

78. The latin name of Mercury is

A. Aurum

B. Cuprum

C. kalium

https://dl.doubtnut.com/l/_mJFe9W9QYTmY
https://dl.doubtnut.com/l/_TdTvejBV7gBp


D. Hydragyrum

Answer:

Watch Video Solution

79.  From the given substance select the wrong

statement.

A. It is molecule of oxygen

B. It has two elements

C. IT contains two oxygen atoms

D. Is is not a compound

O2

https://dl.doubtnut.com/l/_TdTvejBV7gBp
https://dl.doubtnut.com/l/_4dh34nlxksST


Answer:

Watch Video Solution

80.  By using this, select the wrong

statement.

A. The atomicity of water molecule is 6

B. Water molecule contains 3 atoms

C. The above indicates 2 molecules of water

D. It is not exists because of unstable.

Answer:

2H2O

https://dl.doubtnut.com/l/_4dh34nlxksST
https://dl.doubtnut.com/l/_WwutWJM8h5yI


Watch Video Solution

81. Find the odd one according to their net

charge of ion.

A. Hydrogen,sodium,potassium

B. Magnesium,calcium,zinc

C. Aluminium,iron,silver

D. Ammoniu,copper,silver

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WwutWJM8h5yI
https://dl.doubtnut.com/l/_4bjRTIyVOHct


82. Antione Lavoisier is appreciable because

A. He proposed the law of conservation of

mass

B. He is the father of modern chemistry

C. He proposed the law of constant

proportions

D. A and B

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_4bjRTIyVOHct
https://dl.doubtnut.com/l/_IXhhmSJ6IbZ5


83. Atomic mass can be measured accurately by

using the device.

A. Mass spectrometer

B. Light spectrometer

C. Electronic balance

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_IXhhmSJ6IbZ5
https://dl.doubtnut.com/l/_8akuKcnvBsvW
https://dl.doubtnut.com/l/_UxDYxvjukLW4


84. No. of atoms in 16 g of oxygen.

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

6.022 × 1023

3.011 × 1023

12.044 × 1023

85. In a soda water there is 44 grams of  is

mixed with 18 grams of water. The no. of

CO2

https://dl.doubtnut.com/l/_UxDYxvjukLW4
https://dl.doubtnut.com/l/_T5FVk1bjGwPq


molecules of  (Soda water ) is

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

H2CO3

6.022 × 1023

3.011 × 1023

12.044 × 1023

86. Avogadro is appreciable, because he found

that one mole of any substance contains……

https://dl.doubtnut.com/l/_T5FVk1bjGwPq
https://dl.doubtnut.com/l/_66dgQODwa3Kg


molecules.

A. 

B. 

C. 

D. Countless

Answer:

Watch Video Solution

6.2 × 1022

6.4 × 1019

6.02 × 1023

87. The great mole concept was introduced by……….

And he is appreciable.

https://dl.doubtnut.com/l/_66dgQODwa3Kg
https://dl.doubtnut.com/l/_0bKYPBEctEU4


A. Avogadro

B. Ostwaid

C. Dalton

D. Lavoisier

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0bKYPBEctEU4

